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 !"#$%& '"()* +#%&, -! !.  !"' %/01'

1 2# #3! "'$2' !

 .!. 245647, +. . &89:;44<

 !"#$%&' ()$*+,"$-.!//0' -!1/&2!$%&' */&.!"$&-!-

 !"#$%$& '&'(") *$+&",$-./0/ -/-*/1&"1, 0!2)/3/%4$5&/-

-*" " 3!/$.* !$./&-*!2.6"" 5/-*' ,$!$) !. 78(#' # 0. 92&02!$.

:'--5/*!$& ./53($.- !';/* 3/ !$./&-*!2.6"" 5/-*'.

#$%& '()(* )(+, -./0, 0 1. ",21,)( – $342 4* %&5)(6748 9$%&$0 0

:()9%+$9 +)5(. ;5 75 /(& (1$ <+%=/,5&5>44 25+$=4/$%? *25'4&(/?2$( +$-

/4'(%&0$ 3(@(+&$0. :$%/( $A%/(3$0524B 9$%&5 0 2003 1. 4 =$ )(*,/?&5&59

)5%'(&$0 A./$ =)42B&$ )(7(24( $ )(+$2%&),+>44 9$%&5 % *59(2$6 3()(-

0B22$6 =)$(*C(6 '5%&4 9(&5//4'(%+$6 $)&$&)$=2$6 =/4&$6, 0+/D'5(9$6

0 %$09(%&2,D )5A$&, % %,E(%&0,DE494 9(&5//$+$2%&),+>4B94 % =$9$-

E?D >$+$/(6 4 ,0(/4'(24(9 2(%,E(6 %=$%$A2$%&4 3$ &)(A,(9$6 -F4:.

1.  !"#$ %&$'$(#) * +*%,$

#$%& '()(* )(+, -./0, 0 1. ",21,)( ()4%. 1) B0/B(&%B $3249 4*

%&5)(6748 50&$3$)$C2.8 9$%&$0 0 :()9%+$9 +)5(. -&)$4&(/?%&0$ 9$%-

&5 A./$ 25'5&$ 0 1912 1. " 25'5/, :()0$6 94)$0$6 0$62. A./4 0$*0(-

3(2. ,%&$4 4 *5A4&. %054 @,2359(2&$0 =)$9(C,&$'2.8 $=$). !5/?-

2(674( )5A$&. =$ %&)$4&(/?%&0, 9$%&5 A./4 =)$3$/C(2. /47? 0 1930 1.

4 07.11.1931 1. 9$%& A./ =,E(2 0 <+%=/,5&5>4D. #$%& &)(8=)$/(&2.6,

0.=$/2(2 =$ %8(9( 19+87+19 9. :$/25B 3/425 9$%&5 – 136,44 9. G5A5-

)4& =)$(*C(6 '5%&4 – G-8,1 9, 74)425 &)$&,5)$0 – 1,15 9. H=$). – A,-

&$A(&$22.( 25 %0562.8 @,2359(2&58.

I4%. 1. J43 9$%&5 =$%/( )(+$2%&),+>44
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:)$/(&2.( %&)$(24B – A5/$'2.(, +/(=522.(, % (*3$6 =$0()8,.

")5624( =)$/(&2.( %&)$(24B – % 1/502.94 A5/+594 %$ %=/$72$6 %&(2-

+$6; >(2&)5/?2$( =)$/(&2$( %&)$(24( – % 1/502.94 @()9594 % +),1$-

0.9 $'()&524(9 =$B%$0 4 &)(,1$/?2$6 )(7(&+$6.

-('(24B </(9(2&$0 – %$%&502.(, +/(=522.(.  */$0.( %$(342(24B

</(9(2&$0 @()9 ,%&)$(2. =$ &4=, @5%$22.8 0%&50$+ % =5)2.94 25-

+/53+594.

I4%. 2. K5/$'25B +/(&+5 =$%/( )5*A$)+4 3()(0B22$6 =)$(*C(6 '5%&4

H=$)2.( '5%&4 +)56248 =)$/(&$0: =$304C2.( – $32$+5&+$0.(

4 2(=$304C2.( – %(+&$)2.( 75)24)2.(. H=$)2.( '5%&4 >(2&)5/?2$1$

=)$/(&2$1$ %&)$(24B: =$304C2.( – %(+&$)2.( '(&.)(8+5&+$0.(; 2(-

=$304C2.( – %(+&$)2.( 75)24)2.(. :)$(*C5B '5%&? 25 9$%&, – 3()(-

0B225B =$ 9(&5//4'(%+$6 A5/$'2$6 +/(&+(, +$&$)5B =)(3%&50/B(& %$A$6

=()(+)(%&2,D %4%&(9, A5/$+ 30,&50)$0$1$ %('(24B ()4%. 2). :)$3$/?-

2.( A5/+4 0$ 0%(8 =)$/(&58 )5%=$/$C(2. % 751$9 1,8 9, =$=()('2.(

A5/+4 – % 751$9 4,65 9 0 +)56248 =)$/(&58 4 % 751$9 7,2 9 0 >(2&)5/?-

2$9 =)$/(&(. L)$&,5). 25 0.2$%2.8 +$2%$/B8 % 3()(0B22.9 25%&4/$9.

F5 =)$&BC(244 0%(1$ %)$+5 <+%=/,5&5>44 9$%&5 +5C3.( 2–3 1$35

0.=$/2B/4%? )5A$&. =$ *59(2( 3()(0B22$1$ 25%&4/5 =)$(*C(6 '5%&4.

")$9( &$1$, =$ 9()( 2($A8$349$%&4 9(2B/%B 25%&4/ &)$&,5)$0 4 0.-

=$/2B/4%? )5A$&. =$ $+)5%+( @5%532.8 =$0()82$%&(6 A(* ,35/(24B

%&5).8 $+)5%$'2.8 %/$(0 4 2($A8$349$6 =$31$&$0+4 =$0()82$%&(6

(9(c&594 &$/E425 =/(2+4 3$%&415/5 1050 9+9).
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2. -$.(#/$%0*$ %*%,*)(#$ 0*(%,1203#4 +*%,5

J 2003 1. 50&$)594 A./$ 0.=$/2(2$ $A%/(3$0524( 9$%&5, =$ )(-

*,/?&5&59 +$&$)$1$ =$/,'(2. %/(3,DE4( 3522.(.

H=$). 9$%&5 49(/4 /47? 9(/+4( 2(*25'4&(/?2.( 3(@(+&..

:)4 $A%/(3$05244 =)$/(&2.8 %&)$(246 $&9('(2. 3(@(+&., %24-

C5DE4( 2( &$/?+$ 3$/1$0('2$%&? +$2%&),+>46, 2$ 4 48 1),*$=$3M(9-

2$%&?. F54A$/(( %,E(%&0(22.94 B0/B/4%?:

– *51240524( 4 9(8524'(%+46 4*2$% 3)(0(%42. 25%&4/5; 9(%&594

25%&4/ A./ =)$350/(2. J $&3(/?2.8 9(%&58, 13( ,35/$%? % =$9$E?D

E,=5 $>(24&? %&(=(2? *51240524B 3$%$+ 24C2(1$ 25%&4/5, $25 3$%&415-

/5 40–45 %. H&9('(2 1)4A$+ =$ %&.+59 3$%$+ 24C2(1$ 25%&4/5, 5 &5+C(

0 9(%&58 =()(%('(246 25%&4/5, =)$1$2$0 4 =$=()('42. H&3(/?2.( 3()(-

0B22.( =)$1$2. 0 =)4$=$)2.8 *$258 253 ,%&$B94 %124/4 =$/2$%&?D;

– +$))$*4B 9(&5//$+$2%&),+>46 (A$/?75B '5%&? =$0()82$%&(6

9(&5//$+$2%&),+>46 0$$AE( 2( 49(/5 52&4+$))$*4$22$1$ =$+).&4B);

– +$2>(2&)4)$0522.( +$))$*4$22.( =$0)(C3(24B </(9(2&$0 A5-

/$'2$6 +/(&+4 0 9(%&58 $=4)524B 3()(0B22.8 =$=()('42;

– =$/2.6 +$))$*4$22.6 4*2$% $&3(/?2.8 </(9(2&$0 0()8248 =$B%$0

=)$3$/?2.8 A5/$+ =)$(*C(6 '5%&4 4 +$))$*4$22.6 4*2$% 3$ 50 % &$/E42.

25+/53$+ ,*/$0 =)4%$(342(24B =)$3$/?2.8 A5/$+ + =$=()('2.9;

– 92$C(%&0(22.( =$14A4 4 =$3)(*. 9(&5//4'(%+48 </(9(2&$0 *5-

=$/2(24B 1/502.8 @()9 ),%/$0$1$ =)$/(&2$1$ %&)$(24B, $A)5*$050-

74(%B 0%/(3%&04( 25(*35 50&$&)52%=$)&5;

– %+0$*25B +$))$*4B $&3(/?2.8 </(9(2&$0 )(7(&+4 @()9 0 ,)$02(

&)$&,5)2$1$ 25%&4/5 (&5+ 0 $32$9 4* </(9(2&$0 )5%+$%5 $A)5*$05/$%?

$&0()%&4( % )5*9()594 4×10 %9 0 /4%&( &$/E42$6 12 99);

– +$))$*4$22$( =,'(24( %$%&502.8 %('(246 )5%+$%$0 25 ,'5%&+58

9(C3, *5+/(=+594 4 +$))$*4$22$( =,'(24( @5%$2$+ 9(C3, +)562494,

5 0 2(+$&$).8 %/,'5B8 4 9(C3, =)$9(C,&$'2.94 *5+/(=+594.

!/B $=)(3(/(24B %,E(%&0,DE(6 1),*$=$3M(92$%&4 =)$/(&2.8

%&)$(246 4 0$*9$C2.8 05)452&$0 48 )(+$2%&),+>44 A./4 $&$A)52.

$A)5*>. %&5/4 3/B =)$0(3(24B 8494'(%+$1$ 525/4*5 9(&5//5. :$/,'(2-

2.6 8494'(%+46 %$%&50 4%%/(3$0522.8 $A)5*>$0 %$$&0(&%&0,(& /4&$9,

C(/(*, 1906–1935 11.

3. 6(57#8 9128*:*';$+(*%,#

F5 $%2$05244 3522.8 $A%/(3$0524B A./4 0.=$/2(2. )5%'(&.

%,E(%&0,DE(6 1),*$=$3M(92$%&4 9$%&5 % ,'(&$9 (1$ &(824'(%+$1$ %$-

%&$B24B 4 )5%'(&2$( $A$%2$0524( )(+$2%&),+>44. I5%'(&. =)$/(&2.8
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%&)$(246 NN 1, 3 0.=$/2B/4%? 30,9B 9(&$3594. :$ =()0$9, 9(&$3,

,%4/4B 0 </(9(2&58 =)$/(&2.8 %&)$(246 $=)(3(/B/4%? 25 $%2$0( =)4-

A/4C(22.8 )5%'(&2.8 %8(9, 2( ,'4&.05DE48 0*549$3(6%&04B =)$-

3$/?2.8 4 =$=()('2.8 A5/$+ % 1/502.94 A5/+594, 5 &5+C( )5*/4'2,D

=$35&/40$%&? =$=()('2.8 A5/$+ =$ 3/42( =)$/(&2$1$ %&)$(24B. :$

0&$)$9, 9(&$3, =)$/(&2$( %&)$(24( )5%%95&)405/$%? +5+ (3425B +$2-

%&),+>4B, 4 )5%'(& 0.=$/2B/%B 9(&$3$9 +$2('2.8 </(9(2&$0. I5%'(&

A5/$'2$6 +/(&+4 =)$/(&2$1$ %&)$(24B N2 0.=$/2B/%B 525/$14'2$ )5%-

'(&59 +)562(1$ =)$/(&2$1$ %&)$(24B. !/B ,'(&5 =$35&/40$%&4 =$=()('-

2.8 A5/$+ 0 ,*/58 1/502.8 @()9 =$%/(324( 0 )5%'(&2$6 %8(9( A./4

=)(3%&50/(2. A5/+594 %$ %=/$72.94 %&(2+594, $A/535DE494 4*14A-

2$6 C(%&+$%&?D, '4%/(22$ )502$6 C(%&+$%&4 @()9. G/502.( @()9. *5-

&(9 )5%%'4&.05/4%? $&3(/?2$, A(* ,'(&5 0*549$3(6%&04B % A5/$'2$6

+/(&+$6. I5%%95&)405/4%? 05)452&. 251),C(24B )5%'(&2.94 251),*+5-

94 0 254A$/(( 2(0.1$32$9 =$/$C(244 3/B +5C3$1$ 4* )5%%95&)405(-

9.8 </(9(2&$0. !(@(+&., %24C5DE4( 1),*$=$3M(92$%&?, )5*3(/(2. 25

30( 1),==.: ,%/$02$ 2(,%&)5249.( (+$))$*4$22.6 4*2$% 9(&5//$+$2-

%&),+>46) 4 3(@(+&., +$&$).( 9$1,& A.&? ,%&)52(2. =)4 )(9$2&(. :$-

%+$/?+, $32$6 4* *535' )5%'(&$0 B0/B(&%B $>(2+5 1),*$=$3M(92$%&4

9$%&5 =$%/( )(+$2%&),+>44, =)4 $>(2+( 0/4B24B 3(@(+&$0 =)42495/4%?

0$ 0249524( &$/?+$ 3(@(+&. =()0$6 1),==.. !/B ,9(2?7(24B $AM(9$0

)5%'(&$0 25 =()0$9 <&5=( $=)(3(/B/$%? 25=)BC(22$( %$%&$B24( +$2%&-

),+>46 =)$/(&2.8 %&)$(246 A(* ,'(&5 3(@(+&$0, 0 )(*,/?&5&( '(1$ 0.-

B0/B/4%? 254A$/(( 25=)BC(22.( </(9(2&.. F5 0&$)$9 <&5=( 1),*$=$3M-

(92$%&? =$%/(3248 $>(2405/5%? % ,'(&$9 3(@(+&$0. F5 ,'5%&+58 % =)$-

B040749%B +$))$*4$22.9 =,'(24(9 </(9(2&$0 %$%&502.8 +$2%&),+>46

4 ,*/$0.8 %$(342(246 ,'4&.05/4%? ,&$2(24( </(9(2&$0 4 =$14A?, $A-

)5*$05075B%B 0 )(*,/?&5&( =,'(24B. -('(24B % 95+%495/?2.9 ,&$2(24-

(9 4 =$/$C(24(9 59=/4&,3. =$14A4 %$0=535D& 4 )5%=$/515D&%B =$%(-

)(342( 42&()05/$0 9(C3, *5+/(=+594. I5%%95&)405/%B )5%'(& %$%&502$-

1$ %('(24B % $%/5A/(22.94 +$))$*4(6 </(9(2&594 =)4 25/4'44 =$14A4.

:)42B&$ 0$ 0249524(, '&$ =)$3,+&. +$))$*44 9(C3, /4%&594, 0.*050-

74( 48 =,'(24(, 258$3B&%B 0 %$%&$B244 %C5&4B )5%=)(3(/(22.94 25-

1),*+594, %$$&0(&%&0,DE494 =)$14A59 /4%&$0 =)4 =,'(244. -$$&0(&-

%&0(22$ <&$9, =)4 )5%&B1405DE48 ,%4/4B8 0 %&()C2B8, =$30()1748%B

=,'(24D, 0 *$258 =$14A(6 4*9(2(24( +)404*2. A,3(& =)(2(A)(C49$

95/.9, &5+ '&$ 3$=$/24&(/?2.( 4*14A5DE4( 25=)BC(24B 9$C2$ 2(

,'4&.05&?. F5=)$&40, =)4 3(6%&044 %C495DE48 ,%4/46 0 *$258 =$14-
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A(6 25'5/?2.( +)404*2. =)4$A)(&5D& =)4)5E(24B, +$&$).( %$=)$0$C-

35D&%B 3$=$/24&(/?2.94 25=)BC(24B94. !/B 48 $=)(3(/(24B 4 $>(2+4

C(%&+$%&4 </(9(2&$0 % =$14A?D 0 >(/$9 =)49(2B/%B 9(&$3 <+0405/(2&-

2.8 C(%&+$%&(6.

J )(*,/?&5&( )5%'(&$0 =$/,'(2. %/(3,DE4( 3522.(:

– 1/502.( A5/+4 =)$/(&2.8 %&)$(246 NN 1, 3 4 1/502.( @()9.,

5 &5+C( ,*/. =)4%$(342(24B A5/$'2$6 +/(&+4 =)$(*C(6 '5%&4 + 249

,3$0/(&0$)BD& &)(A$0524B9 =)$'2$%&4;

– 2(%,E5B %=$%$A2$%&? %,E(%&0,DE48 A5/$'2.8 +/(&$+ 0%(8

=)$/(&2.8 %&)$(246 030$( 9(2?7( &)(A,(9$6 -F4: 2.05.03–84*; 

– 25 3522$6 %&5344 +$))$*4$22$1$ =,'(24B %$%&502.8 </(9(2&$0

$=)(3(/BDE494 B0/BD&%B %('(24B =$ *5+/(=+59 4 +$))$*4$22$( =,'(-

24( 9$C2$ 2( ,'4&.05&?.

 '4&.05B )(*,/?&5&. 525/4*5 %,E(%&0,DE(6 1),*$=$3M(92$%&4 )5%-

%95&)405/4%? 305 $%2$02.8 05)452&5 )(+$2%&),+>44: % ,%&)$6%&0$9 C(/(-

*$A(&$22$6 =/4&. =)$(*C(6 '5%&4 4 % ,%&)$6%&0$9 9(&5//4'(%+$6 $)&$-

&)$=2$6 =/4&., 0+/D'5(9$6 0 %$09(%&2,D )5A$&, % =$9$E?D >$+$/(6.

I5%'(&. 0.=$/2B/4%? =$ 30,8%&53462$6 %8(9(, $&)5C5DE(6 4%-

&$)4D 0$*0(3(24B 4 251),C(24B +$2%&),+>46. - ,'(&$9 +$))$*4$22.8

$%/5A/(246 %('(246 )5%%'4&.05/4%? &$/?+$ </(9(2&., /494&4),DE4(

(4/4 =$&(2>45/?2$ /494&4),DE4() 1),*$=$3M(92$%&? +$2%&),+>46.

 '4&.05B )(*,/?&5&. )5%'(&$0 4 =)42495B 0$ 0249524(, '&$ 4%-

=$/?*$0524( %05)+4 =)4 ,%4/(244 %,E(%&0,DE48 +$2%&),+>46 B0/B(&-

%B 2(3$=,%&49.9, ,0(/4'(24( 1),*$=$3M(92$%&4 =)$/(&2.8 %&)$(246

9$%&5 3$ &)(A,(9$6 2$)9594 9$C(& A.&? 3$%&412,&$ % =$9$E?D ,%&-

)$6%&05 9(&5//4'(%+$6 $)&$&)$=2$6 =/4&., =)4%$(342B(9$6 + %,E(%&-

0,DE(6 A5/$'2$6 +/(&+( % =$9$E?D >$+$/(6 25 0.%$+$=)$'2.8 A$/-

&58. :)4 <&$9 0.=$/2B&? ,%4/(24( $&3(/?2$ </(9(2&$0 %,E(%&0,DE(6

A5/$'2$6 +/(&+4 2( &)(A,(&%B (*5 4%+/D'(24(9 ,'5%&+$0 % %$%)(3$&$-

'(22.94 +$))$*4$22.94 =$0)(C3(24B94).

4. <1*$0,(=$ 1$>$(#)

F5 )4%. 3 =)(3%&50/(2$ =$=()('2$( %('(24( +)562(1$ =)$/(&2$1$

%&)$(24B 3$ )(+$2%&),+>44 4 =$%/(.

H)&$&)$=25B =/4&5 =)$(*C(6 '5%&4 0+/D'5(& 0 %(AB A5/$'2,D

+/(&+,, =)4%$(342B(9,D + >$+$/B9, 4 A/$+4 =/4&. 25%&4/5, 005)405(-

9.( 0 A5/$'2,D +/(&+, ()4%. 4). #(&5//$+$2%&),+>44 – %05)2.(, *50$-

3%+$1$ 4*1$&$0/(24B. -&.+4 =$=()('2.8 4 =)$3$/?2.8 A5/$+ ,%&)54-

05D&%B 25 0.%$+$=)$'2.8 A$/&58.



120

I4%. 3. :$=()('2$( %('(24( =)$/O&2$1$ %&)$(24B 3$ 4 =$%/( )(+$2%&),+>44

I4%. 4.  %4/(225B A5/$'25B +/(&+5

P$+$/4 =)(3%&50/BD& %$A$6 C(%&+,D %05)2,D +$2%&),+>4D 4*

/4%&$0$6 %&5/4 ()4%. 5). H24 )5%=$/$C(2. 0 ,*/58 =()(%('(24B =$=(-

)('2.8 A5/$+ % =)$3$/?2.94 A5/+594 4 25 =)$3$/?2.8 A5/+58. Q51

>$+$/(6 25*25'5/%B % &$6 >(/?D, '&$A. </(9(2&. %&5)$6 4 2$0$6 A5-

/$'2.8 +/(&$+ )5A$&5/4 (342.9 %('(24(9, &.(. '&$A. 0 $AM(342(22.8

A5/+58 =)4 48 3(@$)94)$05244 0.=$/2B/5%? 14=$&(*5 =/$%+48 %('(246.

Q51 A5/$+ % ,'(&$9 +$2%&),+&402.8 $%$A(22$%&(6 %,E(%&0,DE(6

+/(&+4 %$%&504/ 1,44 9 0 >(2&)5/?2$9 =)$/(&( 4 1,55 9 – 0 +)56248.
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I4%. 5. P$+$/?

R/(9(2&. $)&$&)$=2$6 =/4&. 4 >$+$/(6 4*1$&50/405D&%B 4* %&5-

/4 10S-F!.

L)$&,5). *5=)$(+&4)$052. % ,'(&$9 %$8)52(24B 0%(8 %,E(%&-

0,DE48 9(&5//$+$2%&),+>46 +)$27&(62$0. L)$&,5)2.6 25%&4/ =)(3-

%&50/B(& %$A$6 9(&5//4'(%+4( =52(/4 05@(/?2$1$ &4=5.

!/B ,9(2?7(24B 251),*$+ $& %$A%&0(22$1$ 0(%5 =$+).&4B 25 &)$-

&,5)58 4 0$ 4*A(C524( ,%4/(24B %,E(%&0,DE48 +$2%&),+>46 =$+).&4(

,%&)$(2$ % 4%=$/?*$0524(9 =$/4,)(&52$0$6 95%&4+4 S(9=(/? &$/E4-

2$6 6000 9+9.

T2&4+$))$*4$22$( =$+).&4( 9(&5//$+$2%&),+>46 *5=)$(+&4)$-

052$ =$ 30,9 %8(959: 3/B %,E(%&0,DE48 +$2%&),+>46 4 2$0.8.

J 2005–2006 11. 0.=$/2(2. )5A$&. =$ )(+$2%&),+>44 9$%&5 ()4%. 6). 

I4%. 6. J43 =)$(*C(6 3$ 4 =$%/( )(+$2%&),+>44
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:$%/( *50()7(24B )5A$& A./$ =)$0(3(2$ 4%=.&524( 9$%&5. :$-

/,'(22.( 3522.( =$*0$/4/4 %3(/5&? 0.0$3 $ &$9, '&$ 1),*$=$3M(9-

2$%&? 9$%&5 %$$&0(&%&0,(& =)$(+&2$6.

L5+49 $A)5*$9, =)49(2(24( >$+$/(6 3/B 0+/D'(24B 0 %$09(%&-

2,D )5A$&, % %,E(%&0,DE494 +$2%&),+>4B94 2$0$6 9(&5//4'(%+$6

$)&$&)$=2$6 =/4&. =)$(*C(6 '5%&4 =$*0$/4/$ 2( &$/?+$ 0.=$/24&?

*59(2, 3()(0B22$6 =)$(*C(6 '5%&4 25 9(&5//4'(%+,D, 2$ 4 ,%=(72$

$%,E(%&04&? ,%4/(24( %,E(%&0,DE48 %/5A.8 </(9(2&$0 A5/$'2$6

+/(&+4.

:$/,'(2$ 16.08.2010 


